
King Grill Malaga 
– rozkres náhradních dílů

Instructions for assembly

What’s in the pack?

ILLINOIS BBQ 

1

FOCUS(20109503)-IM-2010 BB01388G  21x29.7cm Reading

These instructions are applicable to the:

ILLINOIS BBQ (260952)

Please read these instructions carefully before attempting to 
assemble and use your Illinois Pedestal BBQ.
Retain this manual for future reference.
For outdoor use only.

Please check parts against the list below before assembling your Illinois BBQ. Take a few moments to familiarize yourself with 
the contents. Check that all holes are clear of paint before assembly.

(1) HANDLE

(2) AIR DAMPER

(3) LID

(4) WARMING RACK

(5) COOKING GRID

(6) CHARCOAL GRID

(7) CHARCOAL GRATE

(8) UPPER HINGE (L/R)

(9) LOWER HINGE (L/R)

(10) FUEL BOWL

3 PCS

2 PCS

1 PC

1 PC

1 PC

1 PC

1 PC

2 PCS

2 PCS

1 PC

(11) SUPPORT ROD

(12) ADJUSTABLE KNOB

(13)FRONT PEDESTAL

(14) BACK PEDESTAL

(15) ASH CATCHER

(16) BASE

(A) PIN

(B) COTTER PIN

(C) SCREW M6X10

(D) SCREW M5X10

2 PCS

1 PC

1 PC

1 PC

1 PC

1 PC

2 PC

2 PCS

16 PCS

14 PCS

PARTS LIST

Instructions for assembly

ILLINOIS BBQ 

FOCUS(20109503)-IM-2010    21x29.7cm Reading

2

Step 2- Attach fuel bowl
1. Attach fuel bowl (10) to assembled of pedestal (13+14) 

using screws (C) and nuts (H).
2. Take one support rod (11), insert the zigzag curved end 

through the left hole in the front side of the fuel bowl (10) 
from inside to outside. Then insert the other end of the 
support rod (11) through the left hole in the rear side of 
the fuel bowl (10) from inside to outside. Repeat for 
another support rod.

3. Insert the zigzag curved end of support rod (11) in the left 
gap of adjustable knob (12). Repeat for the right support rod.

4. Attach adjustable knob (12) to the fuel bowl (10) using 
screws (D) and nuts (F).

5. Attach handles (1) to fuel bowl (10) using washers (G) and 
wing nuts (E).

6. Attach lower hinges (9) to fuel bowl (10) using screws (C), 
washers (G).

7. Place charcoal grate (7) into fuel bowl (10).
8. Insert ash catcher (15) into pedestal.

What tools do I need?

Spanner

Philips Screwdriver

NOT SUPPLIED

NOT SUPPLIED

(E) WING NUT M5

(F) NUT M5

(G) WASHER

(H) NUT M6

6 PCS

14 PCS

14 PCS

8 PCS

Step 1- Attach air damper & base
1. Attach air damper (2) to front pedestal (13) using screw (D) 

and nut (F).
2. Attach front pedestal (13) to back pedestal (14) using 

screws (D) and nuts (F). then attach assembled of pedestal 
(13+14) to base (16) using screws (C) and nuts (H).

14

13

F

2

16

CD

H

 

10
1

12

11

E

7

D

G

C

H

9
C

15

Please read all instructions thoroughly before proceeding.
Place the BBQ on a flat non-abrassive surface to avoid scratching/marking.
During assembly do not completely tighten screws. Do so only when your BBQ is complete.
Please refer to the part list and assembly diagram as necessary.

How do I assemble my Illinois BBQ?

MLG-01/ madlo 3 x 2 x

1 x

1 x

1 x

1 x

1 x

2 x

2 x

16 x

14 x

2 x

2 x

2 x

1 x

1 x

1 x

1 x

1 x

1 x

MLG-11/ podpěra 
roštu s regulací 

MLG-02/ regulace 
přívodu vzduchu 

MLG-12/ regulace 
výšky grilovacího 
roštu

MLG-03/ víko tope-
niště

MLG-13/ přední díl 
nohy

MLG-04/ ohřívací rošt
MLG-14/ zadní díly 
nohy

MLG-05/ grilovací rošt MLG-15/ popelník

MLG-06/ rošt na dře-
věné uhlí s výškovou 
regulací

MLG-16/ podstavec

MLG-07/ rošt tope-
niště 

MLG-A/ čep 

MLG-08/ horní pant
(levý/pravý)

MLG-B/ závlačka

MLG-09/ spodní pant
(levý pravý)

MLG-C/ šroub M6x10

MLG-10/ vana tope-
niště

MLG-D/ šroub M5x10

E) křídlová matka M5

F) matka M5

G) podložka

H) matka M6

Instructions for assembly

ILLINOIS BBQ 

FOCUS(20109503)-IM-2010    21x29.7cm Reading

2

Step 2- Attach fuel bowl
1. Attach fuel bowl (10) to assembled of pedestal (13+14) 

using screws (C) and nuts (H).
2. Take one support rod (11), insert the zigzag curved end 

through the left hole in the front side of the fuel bowl (10) 
from inside to outside. Then insert the other end of the 
support rod (11) through the left hole in the rear side of 
the fuel bowl (10) from inside to outside. Repeat for 
another support rod.

3. Insert the zigzag curved end of support rod (11) in the left 
gap of adjustable knob (12). Repeat for the right support rod.

4. Attach adjustable knob (12) to the fuel bowl (10) using 
screws (D) and nuts (F).

5. Attach handles (1) to fuel bowl (10) using washers (G) and 
wing nuts (E).

6. Attach lower hinges (9) to fuel bowl (10) using screws (C), 
washers (G).

7. Place charcoal grate (7) into fuel bowl (10).
8. Insert ash catcher (15) into pedestal.

What tools do I need?

Spanner

Philips Screwdriver

NOT SUPPLIED

NOT SUPPLIED

(E) WING NUT M5

(F) NUT M5

(G) WASHER

(H) NUT M6

6 PCS

14 PCS

14 PCS

8 PCS

Step 1- Attach air damper & base
1. Attach air damper (2) to front pedestal (13) using screw (D) 

and nut (F).
2. Attach front pedestal (13) to back pedestal (14) using 

screws (D) and nuts (F). then attach assembled of pedestal 
(13+14) to base (16) using screws (C) and nuts (H).

14

13

F

2

16

CD

H

 

10
1

12

11

E

7

D

G

C

H

9
C

15

Please read all instructions thoroughly before proceeding.
Place the BBQ on a flat non-abrassive surface to avoid scratching/marking.
During assembly do not completely tighten screws. Do so only when your BBQ is complete.
Please refer to the part list and assembly diagram as necessary.

How do I assemble my Illinois BBQ?

Instructions for assembly

ILLINOIS BBQ 

FOCUS(20109503)-IM-2010    21x29.7cm Reading

2

Step 2- Attach fuel bowl
1. Attach fuel bowl (10) to assembled of pedestal (13+14) 

using screws (C) and nuts (H).
2. Take one support rod (11), insert the zigzag curved end 

through the left hole in the front side of the fuel bowl (10) 
from inside to outside. Then insert the other end of the 
support rod (11) through the left hole in the rear side of 
the fuel bowl (10) from inside to outside. Repeat for 
another support rod.

3. Insert the zigzag curved end of support rod (11) in the left 
gap of adjustable knob (12). Repeat for the right support rod.

4. Attach adjustable knob (12) to the fuel bowl (10) using 
screws (D) and nuts (F).

5. Attach handles (1) to fuel bowl (10) using washers (G) and 
wing nuts (E).

6. Attach lower hinges (9) to fuel bowl (10) using screws (C), 
washers (G).

7. Place charcoal grate (7) into fuel bowl (10).
8. Insert ash catcher (15) into pedestal.

What tools do I need?

Spanner

Philips Screwdriver

NOT SUPPLIED

NOT SUPPLIED

(E) WING NUT M5

(F) NUT M5

(G) WASHER

(H) NUT M6

6 PCS

14 PCS

14 PCS

8 PCS

Step 1- Attach air damper & base
1. Attach air damper (2) to front pedestal (13) using screw (D) 

and nut (F).
2. Attach front pedestal (13) to back pedestal (14) using 

screws (D) and nuts (F). then attach assembled of pedestal 
(13+14) to base (16) using screws (C) and nuts (H).

14

13

F

2

16

CD

H

 

10
1

12

11

E

7

D

G

C

H

9
C

15

Please read all instructions thoroughly before proceeding.
Place the BBQ on a flat non-abrassive surface to avoid scratching/marking.
During assembly do not completely tighten screws. Do so only when your BBQ is complete.
Please refer to the part list and assembly diagram as necessary.

How do I assemble my Illinois BBQ?

6 x

14 x

14 x

8 x

MLG-E/ křídlová 
matka

MLG-F/ matka M5

MLG-G/ podložka

MLG-H/ matka M6

Obj. č./ popis části/ obrázek dílu Obj. č./ popis části/ obrázek dílu


